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M.Com. (Previous) ABST Examination, 2017
TAX LAWS AND PLANNING

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(@vg-3)
Answer all questions (50 words each).
All questions carry equal marks.

ot yed aifErd € yo&E W9 #1 IW 50 TR ¥
afus 7 B T v # siw T

PART-B [Marks : 50]
(@ve-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TOF THE Y UH-UE WA g gU, | Ui w9 St
TAE YWY F IW 250 VR ¥ fF T A
el y ® fF A T
PART-C [Marks : 30]
(@ve-7q)
Answer any two questions (300 words each).
All questions carry equal marks,

HE A U FIVY TAF G H IW 300 = Q@
st 7 &N 9t A ® o gum §
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PART-A
(QUs-3r)

UNIT-1

F=E-1)

1. (1) What are the prescribed dates of submission of
return of various assessees under the Income
Tax Act 7

s Afufem & owrla faf= &t <@et &
fau s @ fagm ywE @ 1 fafrn w=n £
(i)  What would be maximum penalty for :
Afugan awelwoe = e =W R .
(a) Failure 10 maintain books of accounts.
o TR W W A SEeeE W
(b) Failture to deposit tax deducted at service.
T WA W F TR wA W oS owm
W AR
UNIT-I1
(wew-11)

(iti)  Write the dates and rates of advance tax deposition
for Indian company.

g weAt 8g M R s w wr fafera
w = W fafag)
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e
Tyt

(iv)

(v)

(vi)

(vit)

(viii)

Mention any two methods of recovery of tax from
amn assessee.

TF HRAI ¥ F oaget & wE @ fafm B
W fafag)

UNIT-1IT

(FEE-111)

Explain tax on distributed profits of domestic
companies.

e FEAE W AN fawe | wR w aEEEd|
What do you mean by Consumer Co-operative
Society ?

Iudr wEEd wfufa @ s wm owwem ¥ 2

UNIT-1V

(FHE-IV)
Explain the provisions of Income Tax Act on Capital
Gains from transfer of equity shares.

T AN O TR ¥ IO P W W
R Afufme % yeuR w5 el
What are the provisions of Income Tax Act on
amount invested in Public Provident Fund ?

ot e fBfy wm | o oswm T @
iy ¥ e sfufrm & ow waym ¥ 2
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UNIT-V

(FTFE-V)

(ix) What are those payments which are treated as
dividend ?

3 FH Y gum ¥ R oo oW oam @2

{xX) Why cost of capital of borrowed fund is less than as

compared to share capital ?

3T T P IEW H WU TS H AR FH H

Tt ® 7
PART-B \

(wvz-4)

UNIT-1

(FTE-T)

2. Write short notes on the following :
fm W dga fewfrn fafew -
(a) E-Return.
3-faaroft
(b)  Return of Income without Advance Tax.

fan «#fim = = sm fagoh
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OR (379am)
3. Explain the provisions of Income Tax Act related to
offences by Hindu Undivided Family.
fog favg TfeR TR oWy | aeR sfufem #

b 1o o s e

UNIT-H

(FFTE-10)

4. How will you minimise the tax liability of Hindu Undivided
Family ?
fog afawrg wfer & | fam | o =T 5
TER H41 2

OR (37Y=m)

5.  Rakesh paid ¥ 15,000 as advance tax for the assessment
year 2016-17, The assessing officer, on the regular
assessment, determined tax liability of T 11,000 and issued
the refund on 18-02-2017. Calculate the amount of interest
if payable u/s 244 A.

e A T 15000 FW W F I Fuior = 2016-17
B gTR fFr s frio s 3 Frafim =t faim
™ T 11000 FT fuifi@ fFar 3 18.02.2017 F anfu
oA YR 244A F oT AR FE T W
2 @ sus e S
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UNIT-III

(Sr-111)
6. Explain provisions of Income Tax Act related to
‘Minimum Alternate Tax' on company.

FEA W T T gAen dEferw FU gt amEeR
Afufam = wEyHE = TwEEdl
OR (37era)

7.  Explain the deduction available to Co-operative Society
under Section 80 of the Income Tax Act.

s sfufrem #Y U 80 % Il wEewd wfEfa
= frem St TR S FEERER

UNIT-1V

FHE-TV)
8.  Explain provisions of Income Tax Act to calculate Capital
Gain tax.

St @ FI H MO ¥Y AEEI AUGEH B W
' gHTEA |
OR (314}

9.  Explain the tax benefits available for depositing amount in

"New Pension Scheme".
YT dmm oA ® ofn I R R ITEsY & el
N THEE
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UNIT-V

(FFTE-V)

10. "The loan capital contributes to tax saving resulting a higher
rate of return on owner's equity.” Do you agree with this
statement 7 Illustrate your answer by a suitable
example.

oo T R A A d wedm wd e
# G W ok W W TEE W@ oA ¥ Fn e
T FoF W WEWa € 2 o S HI gfe 3fem mmm
F WEEAE ¥ HifT

OR (31rE)

11. Differentiate Partnership firm and Company organisation
in view of tax planning.

= e F1 gfe 4 ugsd e T OwEE §eA
¥ =R Hifewl

PART-C
(guE-¥)

UNIT-1

(FFE-I)
12.  Write short notes on the following :
frafafan w fewfort fafag -
(@) PAN.
|
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13.

14,

(b)  Audit of Accounts.
Rcsicallic Al E
()  Representative Assessee.

wfafafer s

UNIT-II

(¥FTE-1D)
How will you reduce the tax liability of Partnership firm ?

Explain with iltustration,

TEE R ® W Tae ¥ a9 ®Ul 9 ¥R
I ? T} IR

UNIT-III

(FTE-1ID) |

For the assessment year 2016-17, a company has correctly
worked out its book profit as per Section 115 IB as
T 12,45,600 while income from business and profession
computed ¥ 2,87,450 only. What would be the tax liability
of the company ?

w1 frufer =9 2016-17 ® faT & F9F %1 smgER
At #: W 115 JB # R MM fEE gan
TEHE A9 T 1245600 € EfF FOR qW Y9 [
I IF F oTor wT g ST T 287450 &1 werh

w W A(FE w WM O?
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UNIT-1IV
FFE-IV)

15. Smt. Sadhna had received gold omaments worth ¥ 50,000
as gift at the time of her marriage on 15-12-1978. The
market price of these ornaments on 1-4-1981 was
¥ 1.50,000. These ornaments can be sold at ¥ 18,85,500 in
March/April, 2016. Though Smt. Sadhna already owns
one residential house, even then by selling these ornaments
she intends to purchase another residential house for
T 6.28,500. When should she sells these ornaments, so that
her tax liability remain minimum. Her income {rom salary
is ¥ 2,30,000 (fixed). It is expected cost inflation index
number for the assessment year 2017-18 would be 1100,

gt T ® AW FEE (15.02.1978) F R W
T 50000 % WA F Myuw IER ® fod & fAew
1.4.198] H IR 74 T 1,50,000 o1 T7 TS0 Ayl
2016 H T 1885500 ¥ 3% W1 THa ¥ afy Smdt e
F TE TF IEEE TEE W ¥ €@ ¢ ot aw uE
AT WHEHE T 628,500 B wF FE et 21 3@ T
S FT A el A TEs W af § w9 A
N TR IOH A vdE F R A T 230,000 1T
g # i w faain @ 2017-18 ® foaw o 3fs

gEEE 1100 BN
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UNIT-V

(FHTE-V)

16. The directors of Sona Ltd; whose existing capital is
T 1,00,00,000 all in equity shares, proposes to expand its
business for which an additional investment of ¥ 50,00,000
will be needed. The required money can be raised either
by issue of equity shares or by issue of 10% debentures.
As a tax consultant which proposal will be approved by
you ? Assumed that rate of return on investment is 20%,
rate of income tax on this company is 30.9% and rate of
dividend tax is 20.35765%.

A fefre @ W, faaw! TEE O @ wE T
(T S §) 2, 79w saauE # ISR w6 9w ¥ ™
?q Ifeftsm T 50,00,000 = sTavawar € savEE T
T woa H9 FEieE g W et ® Suen 10%
=N A T #T TE g E

A T FEFR B T W FA-U TE SR T ? T8
qifiy f& fafsain w goamm F W 20%, FEA
W A #F H W 30.9% T W HL Fl I
20.35765% ¥
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